
BOLT SIZE

3/8“ COARSE x 1” 
3/8” COARSE x 1-3/4”
3/8” COARSE x 2-3/4
3/8” COARSE x 5-1/4”
3/8” COARSE NUTS
3/8” x 1-1/2”COARSE BOLTS

QTY.

1
1
2

QTY.

1
1
1
2
4
4

SPACER LENGTH

1/4” 
2-1/8”
4-9/16” 

SPACERS

472-500 cu. in. ENGINE WITH EDELBROCK INTAKE MANIFOLD 

  #15500-VCB

QTY.

2

QTY.

2
2
4
4

SPACER LENGTH

1.875”

BOLT SIZE

3/8“ COARSE x 3/4”
3/8” COARSE x 2-1/2”
3/8” COARSE x 1-1/2”
3/8” COARSE NUTS

SPACERS

472-500 cu. in. ENGINE WITH STOCK INTAKE MANIFOLD   

     #15501-VCB

QTY.

1
1
2

QTY.

2
2
4
4

SPACER LENGTH

1-3/32”
1-5/32”
1-7/8

PART NUMBER

18212-VUB
18213-VUB
18214-VUB

PART NUMBER

18201-VUB
18221-VUB
18226-VUB
         

PART NUMBER

18214-VUB

PART NUMBER

18366-VUB
18364-VUB
18361-VUB
18154-VUB
         

PART NUMBER

18359-VUB
18362-VUB
18367-VUB
18377-VUB
18154-VUB
18361-VUB
         

PART NUMBER

18358-VUB
18366-VUB
18361-VUB
18154-VUB

         

BOLT SIZE

3/8“ COARSE X 2-1/2”
3/8” COARSE X 2”
3/8” COARSE X 1 1/2”
3/8” COARSE NUTS

SPACERS

425 cu. in. ENGINE WITH STOCK INTAKE MANIFOLD   

     #15499-VCB

1             Cad. Comp. Brkt.            15125-VCB

1              Cad. Comp. Brkt.             15125-VCB

1              Cad. Comp. Brkt.             15125-VCB

CADILLAC BRACKET

903382 REV B 1/23/13 INST CADILLAC COMPRESSOR BRACKET PG 1 OF 1


